RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Authorization for use of FY-1999 Carry Over Balance - Tohono O'odham Nation Veteran's Affairs Office)

RESOLUTION NO. <u>99-556</u>

1	WHEREAS,	the Tohono O'odham Nation Veteran's Affairs Office (TONVAO) was established
2		by Council Resolution No. 99-213 with a budget of one hundred and seventeen
3		thousand nine hundred and twenty-eight dollars and twenty-nine cents
4		(\$117,928.29); and
5	WHEREAS,	the Tohono O'odham Legislative Council did by Resolution No. 99-213 also
6		transferred Legislative Council's Annex office to the TONVAO for their use; and
7	WHEREAS,	the Annex office space was utilized by the Legislative Council first as an office
8		and conference room and meeting rooms and secondly as a storage for
9		documents, supplies and other materials; and
10	WHEREAS,	the Annex office was fully occupied with stored materials that did not permit
11		the TONVAO to have the building inspected for planned alterations and
12		renovations; and
13	WHEREAS,	the TONVAO veteran volunteers did contact the Nations Building Inspector to
14		inspect the structure and make a recommendation to the veterans as to the
15		soundness of the building structure. That the Building Inspector requested
16		that all stored materials be removed in order that a through inspection could
17		be conducted; and
18	WHEREAS,	not all stored materials have been removed from the Annex office, therefore,
19		not permitting an inspection of the structure; and
20	WHEREAS,	the O'odham veteran's organization determined that no staff can be hired
21		until the status of the office is determined and the course of building
22		alterations and renovations are made.
23	NOW, THER	EFORE, BE IT RESOLVED that the funding balance of the TONVAO fiscal year
24		1999 budget be carried forward to fiscal year 2000 and permit authorization
25		of use of these funds for the alterations and renovations of the Annex office

(Authorization for use of FY-1999 Carry Over Balance - Tohono O'odham Nation Veteran's Affairs Office) Page 2 of 3 1 building, if the Nation's building Inspector has determined that the structure 2 can be renovated. However, if the Inspector's recommendation against any alterations or renovations or if the cost for alterations and renovations exceed 3 funds available then the O'odham veterans will recommend a course of 4 5 action. 6 The foregoing Resolution was passed by the Tohono O'odham Council on the 30^{TH} . day of 7 SEPTEMBER, 1999 at a meeting at which a quorum was present with a vote of 1.566.3 FOR; 599.20 AGAINST: -0- NOT VOTING; and [06] ABSENT, pursuant to the powers vested in the 8 Council by Section 1 (d)(2) of Article VI of the Constitution of the Tohono O'Odham Nation, 9 10 adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to 11 Section 16 of the Act of June 18, 1934 (48 Stat. 984). 12 13 TOHONO O'ODHAM LEGISLATIVE COUNCIL 14 15 16 17 Dennis Ramon, Legislative Chairman 18 19 15t day of October , 1999 20 21 22 ATTEST: 23 24 25 Iulianna Saraficio, Acting Legislative Secretary 26 27 30 day of Septenbe, 1999. 28 29 **30** Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham Nation on the 1^{2} day of 2^{2} day of 2^{2} at 2^{2} 31 32 o'clock, _____.M., pursuant to the provisions of Section 5 of Article VII of the Constitution 33 and will become effective upon his approval or upon his failure to either approve or 34 35 disapprove it within 48 hours of submittal. 36

RESOLUTION NO. 99-556

37

;	RESOLUTION NO. <u>99-556</u> (Authorization for use of FY-1999 Carry Over Balance - Tohono O'odham Nation Veteran's Affairs Office) Page 3 of 3									
1		TOHONO O'ODHAM LEGISLATIVE COUNCIL								
2										
3										
4		Na k								
5		Dennis Ramon, Legislative Chairman								
6										
7										
8 9										
9 10 11	[] APPROVED	on the, 19,								
12	[] DISAPPROVED	at o'clock,M.								
13	. ,									
14		EXCEEDED 48 HOURS								
15		Exercise 44 : Morro								
16		EDWARD D. MARKIDY Chairman								
17 18		EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION								
19		IOHONO O ODHAM NATION								
20										
21										
22		4								
23	Returned to the Legislative	Secretary on the <u>OF</u> day of								
24										
25	Corover	_,19 <u>99</u> , at <u>9:10</u> o'clock, <u>A</u> .M.								
26	De Tu	/_								
27	Nemer M. DO	ar for								
28	Julianna Saraficio, Acting I	egislatīve Secretary								
29										
30 31										
32										
33										
34										
35										
36										
37										
38 39										
39 40										
41										

ACTION: AUTHORIZATION FOR USE OF FY-1999 CARRY OVER BALANCE - TOHONO O'ODHAM NATION VETERAN'S

AFFAIRS OFFICE

MOVED: COUNCILWOMAN FRANCES MIGUEL

SECOND: COUNCILMAN DENNIS JOSE

DATE: SEPTEMBER 30, 1999

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew) 2. RITA MARTINEZ **	85.9		x		
	(Nicholas Jose)	85.9		X		
SELLS 372.7	1. DENNIS E. JOSE	186.35	X			
	2. EVELYN JUAN	186.35	х			x
SCHUK TOAK 133.4	1. MARY FLORES	66.7		X		
133.4	2. AMBROSE ENCINAS	66.7		x		X
SAN XAVIER	1. TONY BURRELL	82.95		X		х
165.9	2. DENNIS RAMON	82.95		X		
BABOQUIVARI	1. FRANCES MIGUEL	143.25	X			
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	X			
GU ACHI	CAMILLUS LOPEZ (Louis Johnson)	104.8	X			
209.6	2. ALEX J. RAMON	104.8	X			X
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	78.4	X			
156.8	2. JOHNSON JOSE	78.4	X			X
SAN LUCY	1. ALBERT MANUEL, JR.	64.05		х		
128.1	2. GLORIA RAMIREZ ()	64.05		x		
GU VO	1. FERN SALCIDO	80.0	X			
160.0	2. GLORIA MONTANA ** (Phillip Antone)	80.0	x			
HICKIWAN	1. ALEX JOSE	79.05	x			Х
158.1	(Shirley Santos) 2. LLOYD FRANCISCO (Susan Sam)	79.05	x			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	х			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	X			
T	OTAL	2,165.5	1566.3	599.20	-0-	[06]

^{**}PASSED VOTES